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There are 6 questions.

All questions are compulsory.

Marks for each question are indicated against it.

Answer to 2 mark questions should not exceed 30 words each.
Answer to 4 marks questions should not exceed 80 words each.

Answer to 6 marks questions should not exceed 200 words each.

Define Syncretism.

Which Cities were developed by the British and why?

Define industrialisation.

Explain the structural changes seen in the period of Colonialism.
How did the planters live in their estates?

In your opinion is the linguistic affinity helped or harmed India?
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